Oscillation and Nonoscillation for Two-dimensional Nonlinear Systems of Ordinary Differential Equations

Manabu Naito

Abstract. For the two-dimensional nonlinear system

$$u' = a(t)|v|^{1/\alpha}\operatorname{sgn} v, \quad v' = -b(t)|u|^{\alpha}\operatorname{sgn} u$$

with $\alpha > 0$, $a, b \in C[t_0, \infty)$, $a(t) \ge 0$ $(t \ge t_0)$, new oscillation criteria and nonoscillation criteria are given in both cases $\int_{t_0}^{\infty} a(s) ds = \infty$ and $\int_{t_0}^{\infty} a(s) ds < \infty$. One of the main results is an analogue of the Hartman–Wintner oscillation theorem. Our results generalize Li and Yeh's results for second order half-linear scalar equations.

1. Introduction

In this paper we consider the two-dimensional nonlinear system of ordinary differential equations

(1.1)
$$u' = a(t)|v|^{1/\alpha} \operatorname{sgn} v, \quad v' = -b(t)|u|^{\alpha} \operatorname{sgn} u,$$

where α is a positive constant, and a(t) and b(t) are real-valued continuous functions on $[t_0, \infty)$ and

(1.2)
$$a(t) \begin{cases} \geq 0 & \text{for } t \geq t_0, \\ \not\equiv 0 & \text{on } [t_0^+, \infty) \text{ for any } t_0^+ \geq t_0. \end{cases}$$

By a solution (u(t), v(t)) of the system (1.1) on an interval $I \subseteq [t_0, \infty)$ we mean that u(t)and v(t) are continuously differentiable on I and satisfy (1.1) at every point $t \in I$.

It is known (Mirzov [13, Lemma 2.1]) that all local solutions of (1.1) can be continued to t_0 and ∞ , and so all solutions of (1.1) exist on the entire interval $[t_0, \infty)$. Clearly, if (u(t), v(t)) is a solution of (1.1), then so is (-u(t), -v(t)). It is also known (Mirzov [13, Lemma 1.1]) that if a solution (u(t), v(t)) of (1.1) satisfies

$$(u(t_1), v(t_1)) = (0, 0)$$
 for some $t_1 \ge t_0$,

then $(u(t), v(t)) \equiv (0, 0)$ for $t \ge t_0$.

Received June 22, 2022; Accepted October 11, 2022.

Communicated by Cheng-Hsiung Hsu.

²⁰²⁰ Mathematics Subject Classification. 34C10.

Key words and phrases. half-linear system, oscillation, nonoscillation, Hartman–Wintner theorem.

The following remark is useful. Let (u(t), v(t)) be a solution of (1.1) such that

$$u(t_1) = u(t_2) = 0$$
 and $u(t) \neq 0$ on (t_1, t_2) ,

where $t_0 \leq t_1 < t_2 < \infty$. Then, v(t) has at least one zero on (t_1, t_2) . To prove this, assume the contrary that $v(t) \neq 0$ on (t_1, t_2) . We may suppose that v(t) > 0 on (t_1, t_2) . Then, since $a(t) \geq 0$ for $t \geq t_0$, it follows from the first equation in (1.1) that u(t) is nondecreasing on (t_1, t_2) . Since $u(t_1) = u(t_2) = 0$, this implies that $u(t) \equiv 0$ on $[t_1, t_2]$, which is a contradiction to the condition $u(t) \neq 0$ on (t_1, t_2) .

Following the paper of Dosoudilová, Lomtatidze and Šremr [2], we say that a solution (u(t), v(t)) of the system (1.1) is *nontrivial* if $u(t) \neq 0$ on any neighborhood of infinity, and that a nontrivial solution (u(t), v(t)) of (1.1) is *oscillatory* if u(t) has a sequence of zeros tending to infinity, and *nonoscillatory* otherwise. By the preceding remark, it is easily seen that if (u(t), v(t)) is an oscillatory solution of (1.1), then the function v(t) also has a sequence of zeros tending to infinity.

It is worth noting here that, for any nontrivial solution (u(t), v(t)) of (1.1), the sequence of zeros of u(t) cannot have a finite cluster point. To see this, assume the contrary that u(t) has a sequence of zeros $\{t_i\}_{i=1}^{\infty}$ such that $\lim t_i = t_{\infty} \in \mathbb{R}$ as $i \to \infty$. We may suppose that $t_0 \leq t_1 < t_2 < \cdots < t_i < t_{i+1} < \cdots, u(t_i) = u(t_{i+1}) = 0$ and $u(t) \neq 0$ on (t_i, t_{i+1}) $(i = 1, 2, 3, \ldots)$. Then, by the preceding remark, there are τ_i such that $t_i < \tau_i < t_{i+1}$ and $v(\tau_i) = 0$ $(i = 1, 2, 3, \ldots)$. It is clear that $u(t_{\infty}) = v(t_{\infty}) = 0$. Hence, from the result of Mirzov [13, Lemma 1.1] it follows that $(u(t), v(t)) \equiv (0, 0)$ for $t \geq t_0$. This is a contradiction.

An analogue of Sturm's comparison theorem was established by Mirzov [13, Theorem 1.1]. A simple version of the result is the following.

Theorem 1.1. (Mirzov [13]) Consider the system (1.1) and another system of the same type

(1.3)
$$u_1' = a_1(t)|v_1|^{1/\alpha}\operatorname{sgn} v_1, \quad v_1' = -b_1(t)|u_1|^{\alpha}\operatorname{sgn} u_1.$$

Suppose that

 $0 \le a(t) \le a_1(t)$ and $b(t) \le b_1(t)$ for $t \ge t_0$.

If (1.1) has a solution (u(t), v(t)) such that

 $u(t_1) = u(t_2) = 0$ and $u(t) \neq 0$ for $t \in (t_1, t_2)$,

then, for any solution $(u_1(t), v_1(t))$ of (1.3), the first component $u_1(t)$ has at least one zero on the interval $[t_1, t_2]$.

In particular, if the system (1.1) has an oscillatory solution, then any other nontrivial solution is also oscillatory. Therefore, if the system (1.1) has a nonoscillatory solution, then any other nontrivial solution is also nonoscillatory. The system (1.1) is said to be oscillatory (resp. nonoscillatory) if all of its nontrivial solutions are oscillatory (resp. nonoscillatory).

If a(t) > 0 for $t \ge t_0$, then the first component u(t) of a solution (u(t), v(t)) of the system (1.1) is a solution of the scalar differential equation

$$(a(t)^{-\alpha}|u'|^{\alpha}\operatorname{sgn} u')' + b(t)|u|^{\alpha}\operatorname{sgn} u = 0.$$

Conversely, for a solution u(t) of the above scalar differential equation,

$$(u(t), v(t)) = (u(t), a(t)^{-\alpha} | u'(t) |^{\alpha} \operatorname{sgn} u'(t))$$

is a solution of the system (1.1). Putting $p(t) = a(t)^{-\alpha}$ and q(t) = b(t), we rewrite the above scalar equation in the form

(1.4)
$$(p(t)|u'|^{\alpha} \operatorname{sgn} u')' + q(t)|u|^{\alpha} \operatorname{sgn} u = 0,$$

where p(t) and q(t) are continuous functions on $[t_0, \infty)$ and p(t) > 0 for $t \ge t_0$. The equation (1.4) is referred as "half-linear" equation. If $\alpha = 1$, then (1.4) becomes the linear equation

(1.5)
$$(p(t)u')' + q(t)u = 0.$$

In the last three decades, many results have been obtained in the theory of oscillatory and asymptotic behavior of solutions of the half-linear equation (1.4). It is known that basic results for the linear equation (1.5) can be generalized to the half-linear equation (1.4). The important works for (1.4) are summarized in the book of Došlý and Řehák [1]. For the recent results to the half-linear equation (1.4) we refer the papers [5, 7, 15-18, 22-24]. For the results to the nonlinear system (1.1) (including the linear system) we refer the papers [2, 6, 11-14, 19-21].

For simplicity consider the linear equation

(1.6)
$$u'' + q(t)u = 0,$$

which is the case of $p(t) \equiv 1$ in (1.5). The well-known oscillation criterion of Hartman–Wintner is as follows. If

$$\lim_{t \to \infty} \frac{1}{t} \int_{t_0}^t (t-s)q(s) \, ds = \infty,$$

or if

$$-\infty < \liminf_{t \to \infty} \frac{1}{t} \int_{t_0}^t (t-s)q(s) \, ds < \limsup_{t \to \infty} \frac{1}{t} \int_{t_0}^t (t-s)q(s) \, ds$$

then (1.6) is oscillatory (Hartman [3, Theorem 7.3, Chapter XI]). This result can be generalized to the half-linear equation (1.4) (see [1, Theorem 2.2.10]) and to the nonlinear system (1.1) (see Dosoudilová et al. [2]).

In this paper we present new oscillation criteria and nonoscillation criteria for the nonlinear system (1.1). The new oscillation criteria are slightly different from the results of Dosoudilová et al. [2]. For the half-linear scalar equation (1.4) it is usual to distinguish the cases

(1.7)
$$\int_{t_0}^{\infty} p(s)^{-1/\alpha} ds = \infty$$

and

(1.8)
$$\int_{t_0}^{\infty} p(s)^{-1/\alpha} \, ds < \infty.$$

In the system (1.1) these cases correspond to

(1.9)
$$\int_{t_0}^{\infty} a(s) \, ds = \infty$$

and

(1.10)
$$\int_{t_0}^{\infty} a(s) \, ds < \infty,$$

respectively.

For the nonlinear system (1.1) we define a number σ and a function f(t) as follows. For the case where (1.9) holds

(1.11)
$$\sigma = +1, \quad f(t) = \int_{t_0}^t a(s) \, ds, \quad t \ge t_0,$$

and for the case where (1.10) holds

(1.12)
$$\sigma = -1, \quad f(t) = \int_t^\infty a(s) \, ds, \quad t \ge t_0.$$

It is clear that in the former case f(t) > 0 for all large t, and that in the latter case the condition (1.2) implies f(t) > 0 for all $t \ge t_0$. In either case there is a number $t_1 \ge t_0$ such that

(1.13)
$$f(t) > 0, \quad t \ge t_1.$$

Hereafter we suppose that $t_1 \ge t_0$ is a number satisfying (1.13). It is obvious that $f(t)^{\sigma} > 0$ for $t \ge t_1$ and

$$f'(t) = \sigma a(t), \quad t \ge t_1 \quad \text{and} \quad \lim_{t \to \infty} f(t)^{\sigma} = \infty.$$

By making good use of the above σ and f(t), we can treat the cases (1.9) and (1.10) in a unified manner.

To describe our results, we introduce the function classes \mathcal{W} and \mathcal{W}_0 with respect to the system (1.1). Members of \mathcal{W} and \mathcal{W}_0 will be used as weight functions. Define σ and f(t) by (1.11) or (1.12) according as (1.9) or (1.10) holds, and let $t_1 \geq t_0$ be a number satisfying (1.13). Further, let λ be a number such that $\sigma(\lambda - \alpha) < 0$, and let ξ be a number such that $0 \leq \xi < 1/\alpha$. Then we denote by \mathcal{W} the set of all locally integrable functions w(t) on $[t_1, \infty)$ such that $w(t) \geq 0$ for $t \geq t_1$ and $a(t)w(t) \neq 0$ on $[t_1^+, \infty)$ for any $t_1^+ \geq t_1$, and either

(1.14)
$$\int^{\infty} a(s)w(s)\Psi(s)\,ds = \infty$$

or

(1.15)
$$\limsup_{t \to \infty} \left(\int^t a(s)w(s) \, ds \right)^{-\xi + (1/\alpha)} \int_t^\infty a(s)w(s)\Psi(s) \, ds > 0,$$

where

$$\Psi(t) = \left(\int^t a(s)w(s)\,ds\right)^{\xi} \left(\int^t a(s)w(s)^{\alpha+1}f(s)^{\lambda}\,ds\right)^{-1/\alpha}$$

Further, we denote by \mathcal{W}_0 the set of all locally integrable functions w(t) on $[t_1, \infty)$ such that $w(t) \ge 0$ for $t \ge t_1$ and $a(t)w(t) \ne 0$ on $[t_1^+, \infty)$ for any $t_1^+ \ge t_1$, and

(1.16)
$$\lim_{t \to \infty} \left(\int^t a(s)w(s) \, ds \right)^{-\alpha - 1} \int^t a(s)w(s)^{\alpha + 1} f(s)^{\lambda} \, ds = 0.$$

If $a(t) \equiv 1$ and $\lambda = 0$, then the sets \mathcal{W} and \mathcal{W}_0 coincide with the sets \mathfrak{I} and \mathfrak{I}_0 in Li and Yeh [9], and the sets \mathcal{J} and \mathcal{J}_0 in Došlý and Řehák [1, pp. 91–92], respectively.

It is seen that if $w \in \mathcal{W}$, then

(1.17)
$$\int^{\infty} a(t)w(t) dt = \infty.$$

Moreover it can be proved without difficulty that

$$w \in \mathcal{W}_0 \implies w \in \mathcal{W}, \text{ i.e., } \mathcal{W}_0 \subseteq \mathcal{W}.$$

Therefore, if $w \in \mathcal{W}_0$, then (1.17) holds. This fact can also be checked from the definition of \mathcal{W}_0 . In general, $\mathcal{W}_0 \subsetneq \mathcal{W}$. Indeed, for the case $a(t) \equiv 1$, $\alpha = 1$ and $\lambda = 0$ we have $e^t \notin \mathcal{W}_0$ and $e^t \in \mathcal{W}$.

Let λ be a number satisfying $\sigma(\lambda - \alpha) < 0$. Let w(t) be a locally integrable function on $[t_1, \infty)$ which satisfies $w(t) \ge 0$ for $t \ge t_1$ and $a(t)w(t) \ne 0$ on $[t_1^+, \infty)$ for any $t_1^+ \ge t_1$, and (1.17) holds. If w(t) satisfies the additional condition

$$w(t)f(t)^{\lambda/\alpha}$$
 is bounded on $[t_1,\infty)$,

or, more generally,

(1.18)
$$\lim_{t \to \infty} w(t) f(t)^{\lambda/\alpha} \left(\int^t a(s) w(s) \, ds \right)^{-1} = 0,$$

then $w \in \mathcal{W}_0$. Hence it is found that if w(t) satisfies $w(t) \sim kf(t)^{\rho}$ with k > 0, $\sigma(\rho+1) > 0$ and $\sigma(\lambda - \alpha) < 0$, then $w \in \mathcal{W}_0$, and if w(t) satisfies $w(t) \sim kf(t)^{-1}$ with k > 0 and $\sigma(\lambda - \alpha) < 0$, then $w \in \mathcal{W}_0$. The proofs of these facts are left to the reader.

Let σ , f(t) and t_1 be as above, and suppose that λ and ξ satisfy $\sigma(\lambda - \alpha) < 0$ and $0 \le \xi < 1/\alpha$, respectively. Let $w \in \mathcal{W}$ or $w \in \mathcal{W}_0$. Then we set

$$C(t;w,\lambda) = \left(\int_{t_1}^t a(s)w(s)\,ds\right)^{-1}\int_{t_1}^t a(s)w(s)\left(\int_{t_1}^s f(r)^\lambda b(r)\,dr\right)\,ds$$

on a neighborhood of infinity. We will prove the following results.

Theorem 1.2. Let σ , f(t) and t_1 be as above, and suppose that λ and ξ satisfy $\sigma(\lambda - \alpha) < 0$ and $0 \le \xi < 1/\alpha$, respectively. Suppose moreover that there is a function $w \in W$ such that

(1.19)
$$\liminf_{t \to \infty} C(t; w, \lambda) > -\infty$$

If there is a function $w_0 \in W_0$ such that $C(t; w_0, \lambda)$ does not possess a finite limit as $t \to \infty$, then the system (1.1) is oscillatory.

In Theorem 1.2, taking $w = w_0 \in \mathcal{W}_0 \subseteq \mathcal{W}$, we find that if there is a function $w_0 \in \mathcal{W}_0$ such that $\liminf C(t; w_0, \lambda) > -\infty$ as $t \to \infty$, and $C(t; w_0, \lambda)$ does not possess a finite limit as $t \to \infty$, then (1.1) is oscillatory. Therefore we have the following corollary, which gives an analogue of the Hartman–Wintner oscillation theorem.

Corollary 1.3. Let σ , f(t) and t_1 be as above. Suppose that λ satisfies $\sigma(\lambda - \alpha) < 0$. If there is a function $w_0 \in W_0$ such that

$$\lim_{t \to \infty} C(t; w_0, \lambda) = \infty$$

or

(1.20)
$$-\infty < \liminf_{t \to \infty} C(t; w_0, \lambda) < \limsup_{t \to \infty} C(t; w_0, \lambda),$$

then the system (1.1) is oscillatory.

In Corollary 1.3, letting $w_0(t) = f(t)^{\rho} \in \mathcal{W}_0$ with $\sigma(\rho + 1) > 0$, we have the following result.

Corollary 1.4. Let σ , f(t) and t_1 be as above, and suppose that λ satisfies $\sigma(\lambda - \alpha) < 0$. Suppose moreover that there is ρ such that $\sigma(\rho + 1) > 0$ and

$$\lim_{t \to \infty} \frac{1}{f(t)^{\rho+1}} \int_{t_1}^t a(s) f(s)^{\rho} \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr \right) \, ds = \infty$$

or

$$\begin{split} -\infty &< \liminf_{t \to \infty} \frac{1}{f(t)^{\rho+1}} \int_{t_1}^t a(s) f(s)^{\rho} \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr \right) \, ds \\ &< \limsup_{t \to \infty} \frac{1}{f(t)^{\rho+1}} \int_{t_1}^t a(s) f(s)^{\rho} \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr \right) \, ds \end{split}$$

Then the system (1.1) is oscillatory.

Similarly, letting $w_0(t) = 1/f(t) \in \mathcal{W}_0$ in Corollary 1.3, we have the following result.

Corollary 1.5. Let σ , f(t) and t_1 be as above, and suppose that λ satisfies $\sigma(\lambda - \alpha) < 0$. Suppose moreover that

$$\lim_{t \to \infty} \frac{1}{\log f(t)^{\sigma}} \int_{t_1}^t \frac{a(s)}{f(s)} \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr \right) \, ds = \infty$$

or

$$-\infty < \liminf_{t \to \infty} \frac{1}{\log f(t)^{\sigma}} \int_{t_1}^t \frac{a(s)}{f(s)} \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr \right) \, ds$$
$$< \limsup_{t \to \infty} \frac{1}{\log f(t)^{\sigma}} \int_{t_1}^t \frac{a(s)}{f(s)} \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr \right) \, ds.$$

Then the system (1.1) is oscillatory.

Corollary 1.4 has been proved by Dosoudilová et al. [2, Corollaries 2.5 and 2.11]. In the present paper a different proof from [2] is given. Corollary 1.5 seems to be new.

Theorem 1.6. Let σ , f(t) and t_1 be as above, and suppose that λ satisfies $\sigma(\lambda - \alpha) < 0$. (I) If there are $w_0, w_1 \in \mathcal{W}_0$ such that

(1.21)
$$\liminf_{t \to \infty} C(t; w_0, \lambda) < \liminf_{t \to \infty} C(t; w_1, \lambda),$$

then the system (1.1) is oscillatory.

(II) If there are $w_0, w_1 \in \mathcal{W}_0$ such that

(1.22)
$$-\infty < \liminf_{t \to \infty} C(t; w_0, \lambda) < \limsup_{t \to \infty} C(t; w_1, \lambda),$$

then the system (1.1) is oscillatory.

If $a(t) \equiv 1$ and w_0, w_1 are nonnegative bounded functions satisfying

$$\int^{\infty} w_0(t) \, dt = \int^{\infty} w_1(t) \, dt = \infty,$$

then $w_0, w_1 \in \mathcal{W}_0$ with $\lambda = 0$. Therefore Theorem 1.6(I) gives an extension of the result by Li and Yeh [9, Corollary 3.2]. (Note that the scalar half-linear equation (1.4) is regarded as a special case of the system (1.1) with $a(t) = p(t)^{-1/\alpha}$ and b(t) = q(t).)

In the statement (II) of Theorem 1.6, the condition (1.22) of the case $w_1 = w_0$ becomes the condition (1.20) in Corollary 1.3.

By Corollary 1.4 (or Corollary 1.5) we find that if there is a constant λ such that $\sigma(\lambda - \alpha) < 0$ and

(1.23)
$$\lim_{t \to \infty} \int_{t_1}^t f(s)^{\lambda} b(s) \, ds = \int_{t_1}^{\infty} f(s)^{\lambda} b(s) \, ds = \infty,$$

then (1.1) is oscillatory. A typical counter condition to (1.23) is

(1.24)
$$\lim_{t \to \infty} \int_{t_0}^t f(s)^{\alpha} b(s) \, ds = \int_{t_0}^{\infty} f(s)^{\alpha} b(s) \, ds \quad \text{exists and is finite,}$$

which plays an important role for the nonoscillation of (1.1). In fact, it can be proved that (1.24) is sufficient for (1.1) to be nonoscillatory.

Theorem 1.7. Let f(t) be as above. If (1.24) holds, then the system (1.1) is nonoscillatory.

Theorems 1.2, 1.6 and 1.7 are proved in the next section. Since the scalar half-linear equation (1.4) is regarded as a special case of the system (1.1) with $a(t) = p(t)^{-1/\alpha}$ and b(t) = q(t), the results for (1.1) automatically produce the corresponding ones for (1.4). In Section 3 we state the oscillatory and nonoscillatory results for (1.4). Several examples illustrating our results are presented in Section 4.

2. Proofs of theorems

Lemma 2.1. Let $\varphi(t)$ be a continuous function on $[T_0, \infty)$ such that $\varphi(t) \ge 0$ for $t \ge T_0$ and

$$\int_{T_0}^{\infty} \varphi(s) \, ds = \infty,$$

and let $\psi(t)$ be a continuous function on $[T_0, \infty)$. For $T \ge T_0$, define the function F(t, T)on a neighborhood of infinity by

$$F(t,T) = \left(\int_T^t \varphi(s) \, ds\right)^{-1} \int_T^t \varphi(s) \left(\int_T^s \psi(r) \, dr\right) \, ds.$$

Let $T_1 \geq T_0$ and $T_2 \geq T_0$. Then

(i)
$$\lim_{t \to \infty} F(t, T_2) = L_2 \in \mathbb{R} \implies \lim_{t \to \infty} F(t, T_1) = \int_{T_1}^{T_2} \psi(s) \, ds + L_2,$$

(ii)
$$\lim_{t \to \infty} F(t, T_2) = \infty [-\infty] \implies \lim_{t \to \infty} F(t, T_1) = \infty [-\infty],$$

(iii)
$$\limsup_{t \to \infty} F(t, T_2) < \infty \implies \limsup_{t \to \infty} F(t, T_1) < \infty$$

(iv)
$$\liminf_{t \to \infty} F(t, T_2) > -\infty \implies \liminf_{t \to \infty} F(t, T_1) > -\infty.$$

Proof. Since

$$F(t,T_1) = \int_{T_1}^{T_2} \psi(s) \, ds + \left(\int_{T_1}^t \varphi(s) \, ds\right)^{-1} \int_{T_1}^{T_2} \varphi(s) \left(\int_{T_2}^s \psi(r) \, dr\right) \, ds \\ + \left(\int_{T_1}^t \varphi(s) \, ds\right)^{-1} \left(\int_{T_2}^t \varphi(s) \, ds\right) F(t,T_2)$$

for all large t, the assertions (i)–(iv) are clear. The proof is complete.

Now, as in the preceding section, we define σ and f(t) by (1.11) or (1.12) according as (1.9) or (1.10) holds, and let $t_1 \ge t_0$ be a number satisfying (1.13).

Suppose that the system (1.1) has a nonoscillatory solution (u(t), v(t)) such that u(t) > 0 for $t \ge T$ $(\ge t_1)$. Define the function R(t) by

(2.1)
$$R(t) = \frac{v(t)}{u(t)^{\alpha}}, \quad t \ge T$$

It is easily seen that R(t) satisfies the generalized Riccati differential equation

$$R'(t) = -b(t) - \alpha a(t) |R(t)|^{(\alpha+1)/\alpha}, \quad t \ge T.$$

This gives

$$\int_{\tau}^{t} f(s)^{\lambda} R'(s) \, ds = -\int_{\tau}^{t} f(s)^{\lambda} b(s) \, ds - \alpha \int_{\tau}^{t} a(s) f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} \, ds$$

for $t \ge \tau \ge T$. Using integration by parts on the left-hand side of the above, we find that

(2.2)
$$f(t)^{\lambda}R(t) = f(\tau)^{\lambda}R(\tau) - \int_{\tau}^{t} f(s)^{\lambda}b(s)\,ds + \sigma\lambda \int_{\tau}^{t} a(s)f(s)^{\lambda-1}R(s)\,ds - \alpha \int_{\tau}^{t} a(s)f(s)^{\lambda}|R(s)|^{(\alpha+1)/\alpha}\,ds, \quad t \ge \tau \ge T.$$

For brevity, we put

(2.3)
$$I(t,\tau) = \int_{\tau}^{t} a(s)f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} ds, \quad t \ge \tau \ge T.$$

Let λ and ξ satisfy $\sigma(\lambda - \alpha) < 0$ and $0 \le \xi < 1/\alpha$, respectively, and let $w \in \mathcal{W}$ or $w \in \mathcal{W}_0$. Then it follows from (2.2) and (2.3) that

(2.4)

$$\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s) ds = f(\tau)^{\lambda}R(\tau) \int_{\tau}^{t} a(s)w(s) ds - \int_{\tau}^{t} a(s)w(s) \left(\int_{\tau}^{s} f(r)^{\lambda}b(r) dr\right) ds \\
+ \sigma\lambda \int_{\tau}^{t} a(s)w(s) \left(\int_{\tau}^{s} a(r)f(r)^{\lambda-1}R(r) dr\right) ds \\
- \alpha \int_{\tau}^{t} a(s)w(s)I(s,\tau) ds, \quad t \ge \tau \ge T.$$

We will divide the proofs of Theorems 1.2 and 1.6 into two steps. The first step is the following lemma.

Lemma 2.2. Let σ , f(t), t_1 , λ and ξ be as above. Suppose that there is a function $w \in W$ such that (1.19) holds. If the system (1.1) has a nonoscillatory solution (u(t), v(t)) such that u(t) > 0 for $t \ge T$ ($\ge t_1$), then

(2.5)
$$\int_{T}^{\infty} a(s)f(s)^{\lambda}|R(s)|^{(\alpha+1)/\alpha} \, ds < \infty,$$

where R(t) is defined by (2.1).

Proof. Let w(t) be a function which belongs to \mathcal{W} and satisfies (1.19). For the meanwhile, we suppose that $\tau \geq t_1$ is an arbitrary number such that

$$(2.6) a(\tau)w(\tau) > 0.$$

This gives

$$\int_{\tau}^{t} a(s)w(s) \, ds > 0 \quad \text{for all } t > \tau.$$

Then we define the functions $A(t,\tau)$ and $B(t,\tau)$ on $[\tau,\infty)$ by

$$A(t,\tau) = \int_{\tau}^{t} a(s)w(s) \, ds, \quad t \ge \tau,$$

and

$$B(t,\tau) = \frac{1}{A(t,\tau)} \int_{\tau}^{t} a(s)w(s) \left(\int_{\tau}^{s} f(r)^{\lambda} b(r) dr\right) ds, \quad t \ge \tau.$$

Here, the value of $B(\tau, \tau)$ is interpreted as 0.

To prove (2.5), assume on the contrary that

(2.7)
$$\int_{T}^{\infty} a(s)f(s)^{\lambda}|R(s)|^{(\alpha+1)/\alpha} ds = \infty.$$

Without loss of generality we can suppose that a(T)w(T) > 0. By using the above functions $A(t, \tau)$ and $B(t, \tau)$, the equality (2.4) is written as

(2.8)

$$\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s) \, ds = [f(\tau)^{\lambda}R(\tau) - B(t,\tau)]A(t,\tau) + \sigma\lambda \int_{\tau}^{t} a(s)w(s) \left(\int_{\tau}^{s} a(r)f(r)^{\lambda-1}R(r) \, dr\right) \, ds - \alpha \int_{\tau}^{t} a(s)w(s)I(s,\tau) \, ds, \quad t \ge \tau \ge T.$$

Applying Lemma 2.1(iv) to the case $T_0 = T_2 = t_1$, $T_1 = T$, $\varphi(t) = a(t)w(t)$ and $\psi(t) = f(t)^{\lambda}b(t)$, we see that the assumption (1.19) implies $\liminf B(t,T) > -\infty$ $(t \to \infty)$. Therefore there exists a positive constant M such that

(2.9)
$$B(t,T) \ge -M \quad \text{for all } t \ge T.$$

As in the equality (2.2), we get

(2.10)
$$f(\tau)^{\lambda}R(\tau) = f(T)^{\lambda}R(T) - \int_{T}^{\tau} f(s)^{\lambda}b(s) ds + \sigma\lambda \int_{T}^{\tau} a(s)f(s)^{\lambda-1}R(s) ds - \alpha I(\tau,T), \quad \tau \ge T,$$

where

$$I(\tau,T) = \int_T^\tau a(s)f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} \, ds.$$

By the definitions of $A(t, \tau)$ and $B(t, \tau)$ we have

(2.11)
$$B(t,\tau) = \frac{A(t,T)}{A(t,\tau)}B(t,T) - \int_{T}^{\tau} f(s)^{\lambda}b(s) ds$$
$$-\frac{1}{A(t,\tau)}\int_{T}^{\tau} a(s)w(s) \left(\int_{T}^{s} f(r)^{\lambda}b(r) dr\right) ds, \quad t > \tau \ge T.$$

Therefore it follows from (2.10) and (2.11) that

$$f(\tau)^{\lambda}R(\tau) - B(t,\tau)$$

$$= f(T)^{\lambda}R(T) + \sigma\lambda \int_{T}^{\tau} a(s)f(s)^{\lambda-1}R(s)\,ds - \alpha I(\tau,T) - \frac{A(t,T)}{A(t,\tau)}B(t,T)$$

$$+ \frac{1}{A(t,\tau)}\int_{T}^{\tau} a(s)w(s)\left(\int_{T}^{s} f(r)^{\lambda}b(r)\,dr\right)\,ds, \quad t > \tau \ge T.$$

Using (2.9) on the right-hand side of (2.12), and taking the upper limit as $t \to \infty$, we obtain

(2.13)
$$\lim_{t \to \infty} \sup [f(\tau)^{\lambda} R(\tau) - B(t,\tau)] \\ \leq f(T)^{\lambda} |R(T)| + |\lambda| \int_{T}^{\tau} a(s) f(s)^{\lambda-1} |R(s)| \, ds - \alpha I(\tau,T) + M$$

for $\tau \geq T$. By Hölder's inequality the integral of the second term on the right-hand side of (2.13) is estimated as follows:

$$\begin{split} &\int_{T}^{\tau} a(s)f(s)^{\lambda-1}|R(s)|\,ds\\ &\leq \left(\int_{T}^{\tau} a(s)f(s)^{\lambda-\alpha-1}\,ds\right)^{1/(\alpha+1)} \left(\int_{T}^{\tau} a(s)f(s)^{\lambda}|R(s)|^{(\alpha+1)/\alpha}\,ds\right)^{\alpha/(\alpha+1)}\\ &= \left(\int_{T}^{\tau} a(s)f(s)^{\lambda-\alpha-1}\,ds\right)^{1/(\alpha+1)} I(\tau,T)^{\alpha/(\alpha+1)}, \quad \tau \geq T. \end{split}$$

Note here that

$$0 \le \int_T^\tau a(s)f(s)^{\lambda-\alpha-1} \, ds \le \int_{t_1}^\infty a(s)f(s)^{\lambda-\alpha-1} \, ds = -\frac{1}{\sigma} \frac{f(t_1)^{\lambda-\alpha}}{\lambda-\alpha} < \infty.$$

Therefore we have

(2.14)
$$\int_{T}^{\tau} a(s)f(s)^{\lambda-1}|R(s)| \, ds \le \left(\int_{t_1}^{\infty} a(s)f(s)^{\lambda-\alpha-1} \, ds\right)^{1/(\alpha+1)} I(\tau,T)^{\alpha/(\alpha+1)}$$

for $\tau \geq T$. Then, (2.13) gives

(2.15)
$$\lim_{t \to \infty} \sup[f(\tau)^{\lambda} R(\tau) - B(t, \tau)] \leq f(T)^{\lambda} |R(T)| + |\lambda| \left(\int_{t_1}^{\infty} a(s) f(s)^{\lambda - \alpha - 1} ds \right)^{1/(\alpha + 1)} I(\tau, T)^{\alpha/(\alpha + 1)} - \alpha I(\tau, T) + M, \quad \tau \ge T.$$

We denote the right-hand side of (2.15) by $L(\tau)$. Remark that τ in (2.15) is a number satisfying (2.6). There exists a sequence $\{\tau_i\}_{i=1}^{\infty}$ such that

$$a(\tau_i)w(\tau_i) > 0, \quad i = 1, 2, 3, \dots$$
 and $\lim_{i \to \infty} \tau_i = \infty.$

Since (2.7) implies $I(\tau_i, T) \to \infty$ $(i \to \infty)$, we have $L(\tau_i)/I(\tau_i, T) \to -\alpha$ $(i \to \infty)$, and so $L(\tau_i) \to -\infty$ as $i \to \infty$. Therefore, for any positive number ζ , there is $\tau = \tau(\zeta) > T$ such that $a(\tau)w(\tau) > 0$ and $L(\tau) < -2\zeta$ hold. In what follows, $\tau = \tau(\zeta)$ is a number having these properties. In the last step we will let $\zeta \to \infty$. By the inequality (2.15), there is a sufficiently large number $T_1 > \tau$ such that

$$f(\tau)^{\lambda}R(\tau) - B(t,\tau) \le -\zeta$$
 for all $t \ge T_1$.

Then it follows from (2.8) that

(2.16)

$$\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s) ds$$

$$\leq -\zeta A(t,\tau) + |\lambda| \int_{\tau}^{t} a(s)w(s) \left(\int_{\tau}^{s} a(r)f(r)^{\lambda-1}|R(r)| dr\right) ds$$

$$-\alpha \int_{\tau}^{t} a(s)w(s)I(s,\tau) ds$$

for $t \geq T_1$. Similar to (2.14) we have

$$\int_{\tau}^{s} a(r)f(r)^{\lambda-1} |R(r)| \, dr \le \left(\int_{t_1}^{\infty} a(r)f(r)^{\lambda-\alpha-1} \, dr\right)^{1/(\alpha+1)} I(s,\tau)^{\alpha/(\alpha+1)}$$

for $s \ge \tau$. Hence, by (2.16),

$$(2.17)$$

$$\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s) ds$$

$$\leq -\zeta A(t,\tau)$$

$$+ \int_{\tau}^{t} a(s)w(s) \left[|\lambda| \left(\int_{t_{1}}^{\infty} a(r)f(r)^{\lambda-\alpha-1} dr \right)^{1/(\alpha+1)} I(s,\tau)^{\alpha/(\alpha+1)} - \alpha I(s,\tau) \right] ds$$

for $t \ge T_1$. Denote by $L(s,\tau)$ the term in the square brackets of the right-hand side of (2.17). Since $I(s,\tau) \to \infty$ $(s \to \infty)$, we have $L(s,\tau)/I(s,\tau) \to -\alpha$ as $s \to \infty$. Therefore there is $\eta > T_1$ such that

$$L(s,\tau) \le -\frac{\alpha}{2}I(s,\tau) \quad \text{for } s \ge \eta.$$

Then, by (2.17), we see that

(2.18)
$$\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s)\,ds \leq -\zeta A(t,\tau) + \int_{\tau}^{\eta} a(s)w(s)L(s,\tau)\,ds \\ - \frac{\alpha}{2}\int_{\eta}^{t} a(s)w(s)I(s,\tau)\,ds$$

for $t \ge \eta$. Remember that $w \in \mathcal{W}$ satisfies (1.17). This means that $A(t, \tau) \to \infty$ as $t \to \infty$. Therefore, there is $\theta > \eta$ such that

$$\int_{\tau}^{\eta} a(s)w(s)L(s,\tau)\,ds \le \frac{\zeta}{2}A(t,\tau) \quad \text{for } t \ge \theta.$$

Then it follows from (2.18) that

(2.19)
$$\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s)\,ds \leq -\frac{\zeta}{2}A(t,\tau) - \frac{\alpha}{2}\int_{\eta}^{t} a(s)w(s)I(s,\tau)\,ds$$

for $t \ge \theta$. Denote by -G(t) the right-hand side of (2.19). We have

(2.20)
$$G(t) \ge \frac{\zeta}{2}A(t,\tau) > 0,$$

(2.21)
$$0 < G(t) \leq -\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s)\,ds = \left|\int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s)\,ds\right|,$$

and

(2.22)
$$G'(t) \ge \frac{\alpha}{2}a(t)w(t)I(t,\tau)$$

for $t \geq \theta$.

Now, using Hölder's inequality, we obtain

$$\begin{aligned} \left| \int_{\tau}^{t} a(s)w(s)f(s)^{\lambda}R(s)\,ds \right| \\ (2.23) &\leq \left(\int_{\tau}^{t} a(s)w(s)^{\alpha+1}f(s)^{\lambda}\,ds \right)^{1/(\alpha+1)} \left(\int_{\tau}^{t} a(s)f(s)^{\lambda}|R(s)|^{(\alpha+1)/\alpha}\,ds \right)^{\alpha/(\alpha+1)} \\ &= \left(\int_{\tau}^{t} a(s)w(s)^{\alpha+1}f(s)^{\lambda}\,ds \right)^{1/(\alpha+1)} I(t,\tau)^{\alpha/(\alpha+1)}, \quad t \geq \tau, \end{aligned}$$

and, hence, it follows from (2.21) that

$$I(t,\tau) \ge \left(\int_{\tau}^{t} a(s)w(s)^{\alpha+1}f(s)^{\lambda} \, ds\right)^{-1/\alpha} G(t)^{(\alpha+1)/\alpha}$$

for $t \ge \theta$. To simplify notation, we put

$$J(t,u) = \int_{u}^{t} a(s)w(s)^{\alpha+1}f(s)^{\lambda} ds, \quad t \ge u \ge T.$$

Then, (2.22) gives

(2.24)
$$G'(t) \ge \frac{\alpha}{2} a(t) w(t) J(t,\tau)^{-1/\alpha} G(t)^{(\alpha+1)/\alpha}$$

for $t \ge \theta$. Multiplying (2.24) by $G(t)^{\xi - [(\alpha+1)/\alpha]}$, where ξ is a number such that $0 \le \xi < 1/\alpha$, and using (2.20), we get

$$G'(t)G(t)^{\xi-[(\alpha+1)/\alpha]} \ge \frac{\alpha}{2} \left(\frac{\zeta}{2}\right)^{\xi} a(t)w(t)J(t,\tau)^{-1/\alpha}A(t,\tau)^{\xi}$$

for $t \ge \theta$. Integrate the above inequality from $t (\ge \theta)$ to t', and let $t' \to \infty$. Since $\xi < 1/\alpha$ and $G(t) \to \infty$ as $t \to \infty$ (see (2.20)) we find that

(2.25)
$$\int_{\theta}^{\infty} a(s)w(s)J(s,\tau)^{-1/\alpha}A(s,\tau)^{\xi}\,ds < \infty$$

and

(2.26)
$$\left(\frac{1}{\alpha} - \xi\right)^{-1} G(t)^{\xi - (1/\alpha)} \ge \frac{\alpha}{2} \left(\frac{\zeta}{2}\right)^{\xi} \int_{t}^{\infty} a(s)w(s)J(s,\tau)^{-1/\alpha}A(s,\tau)^{\xi} ds$$

for $t \geq \theta$.

304

For the case where $w \in \mathcal{W}$ satisfies (1.14), the result (2.25) yields a contradiction. Therefore, let us consider the case where $w \in \mathcal{W}$ satisfies (1.15). Using (2.20) on the left-hand side of (2.26), we deduce that

(2.27)
$$\frac{2}{\alpha} \left(\frac{\zeta}{2}\right)^{-1/\alpha} \left(\frac{1}{\alpha} - \xi\right)^{-1} \geq A(t,\tau)^{-\xi + (1/\alpha)} \int_t^\infty a(s)w(s)J(s,\tau)^{-1/\alpha}A(s,\tau)^\xi \, ds, \quad t \ge \theta$$

Since

$$\begin{aligned} A(t,T) &= A(\tau,T) + A(t,\tau), \qquad J(s,\tau) \leq J(s,T), \\ A(s,T) &= A(\tau,T) + A(s,\tau), \qquad A(s,\tau) \geq A(t,\tau), \quad s \geq t, \end{aligned}$$

we easily see that

$$\begin{split} &A(t,T)^{-\xi+(1/\alpha)} \int_t^\infty a(s)w(s)J(s,T)^{-1/\alpha}A(s,T)^\xi \, ds \\ &\leq \left[\frac{A(\tau,T)+A(t,\tau)}{A(t,\tau)}\right]^{-\xi+(1/\alpha)} \left[\frac{A(\tau,T)}{A(t,\tau)}+1\right]^\xi A(t,\tau)^{-\xi+(1/\alpha)} \\ &\times \int_t^\infty a(s)w(s)J(s,\tau)^{-1/\alpha}A(s,\tau)^\xi \, ds, \quad t \geq \theta. \end{split}$$

Hence, taking the upper limit as $t \to \infty$ in (2.27), we get

(2.28)
$$\frac{2}{\alpha} \left(\frac{\zeta}{2}\right)^{-1/\alpha} \left(\frac{1}{\alpha} - \xi\right)^{-1} \\ \geq \limsup_{t \to \infty} A(t, T)^{-\xi + (1/\alpha)} \int_t^\infty a(s) w(s) J(s, T)^{-1/\alpha} A(s, T)^\xi \, ds$$

Note that the right-hand side of (2.28) is independent of $\zeta > 0$. Since $\zeta > 0$ is arbitrary, letting $\zeta \to \infty$ in (2.28), we find that

$$\limsup_{t \to \infty} A(t,T)^{-\xi + (1/\alpha)} \int_t^\infty a(s) w(s) J(s,T)^{-1/\alpha} A(s,T)^{\xi} \, ds = 0.$$

This is a contradiction to (1.15). Thus we conclude that (2.5) holds. This completes the proof of Lemma 2.2. $\hfill \Box$

Lemma 2.3. Let σ , f(t), t_1 and λ be as above. Suppose that the system (1.1) has a nonoscillatory solution (u(t), v(t)) such that u(t) > 0 for $t \ge T$ ($\ge t_1$). Suppose further that the function R(t) defined by (2.1) satisfies (2.5). Then, for any $w \in W_0$, the function $C(t; w, \lambda)$ has a finite limit as $t \to \infty$. The value of the limit of $C(t; w, \lambda)$ as $t \to \infty$ does not depend on $w \in W_0$. *Proof.* For any $w \in \mathcal{W}_0$, we have (2.4). Note that w(t) satisfies (1.17). Putting $\tau = T$ in (2.4), we get

(2.29)

$$\frac{1}{A(t,T)} \int_{T}^{t} a(s)w(s) \left(\int_{T}^{s} f(r)^{\lambda}b(r) dr\right) ds$$

$$= f(T)^{\lambda}R(T) - \frac{1}{A(t,T)} \int_{T}^{t} a(s)w(s)f(s)^{\lambda}R(s) ds$$

$$+ \frac{\sigma\lambda}{A(t,T)} \int_{T}^{t} a(s)w(s) \left(\int_{T}^{s} a(r)f(r)^{\lambda-1}R(r) dr\right) ds$$

$$- \frac{\alpha}{A(t,T)} \int_{T}^{t} a(s)w(s)I(s,T) ds$$

for all large t. Here,

$$A(t,T) = \int_{T}^{t} a(s)w(s) \, ds$$
 and $I(t,T) = \int_{T}^{t} a(s)f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} \, ds$, $t \ge T$.

From the condition (2.5) it follows that

(2.30)
$$\lim_{t \to \infty} I(t,T) = \int_T^\infty a(s)f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} \, ds < \infty.$$

Then it is clear that

$$\lim_{t \to \infty} \frac{1}{A(t,T)} \int_T^t a(s) w(s) I(s,T) \, ds = \int_T^\infty a(s) f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} \, ds \in \mathbb{R}.$$

Analogously to (2.23) we have

$$\left|\int_{T}^{t} a(s)w(s)f(s)^{\lambda}R(s)\,ds\right| \leq \left(\int_{T}^{t} a(s)w(s)^{\alpha+1}f(s)^{\lambda}\,ds\right)^{1/(\alpha+1)}I(t,T)^{\alpha/(\alpha+1)}$$

and so

$$\begin{aligned} & \frac{1}{A(t,T)} \left| \int_T^t a(s) w(s) f(s)^{\lambda} R(s) \, ds \right| \\ & \leq \frac{1}{A(t,T)} \left(\int_T^t a(s) w(s)^{\alpha+1} f(s)^{\lambda} \, ds \right)^{1/(\alpha+1)} I(t,T)^{\alpha/(\alpha+1)} \end{aligned}$$

for all large t. Therefore, by (1.16) and (2.30), we get

$$\lim_{t \to \infty} \frac{1}{A(t,T)} \int_T^t a(s) w(s) f(s)^{\lambda} R(s) \, ds = 0.$$

As in the proof of (2.14), we have

(2.31)
$$\int_{T}^{t} a(s)f(s)^{\lambda-1}|R(s)| \, ds \le \left(\int_{t_1}^{\infty} a(s)f(s)^{\lambda-\alpha-1} \, ds\right)^{1/(\alpha+1)} I(t,T)^{\alpha/(\alpha+1)}$$

for $t \ge T$. Since I(t,T) has a finite limit as $t \to \infty$, it is bounded on $[T,\infty)$, and so (2.31) yields

$$\int_T^\infty a(s)f(s)^{\lambda-1}|R(s)|\,ds<\infty.$$

This implies that

$$\lim_{t \to \infty} \int_T^t a(s) f(s)^{\lambda - 1} R(s) \, ds = \int_T^\infty a(s) f(s)^{\lambda - 1} R(s) \, ds$$

exists and is finite. Hence,

$$\lim_{t \to \infty} \frac{1}{A(t,T)} \int_T^t a(s)w(s) \left(\int_T^s a(r)f(r)^{\lambda-1}R(r) \, dr \right) \, ds = \int_T^\infty a(s)f(s)^{\lambda-1}R(s) \, ds \in \mathbb{R}.$$

Then, by (2.29), we conclude that

(2.32)
$$\lim_{t \to \infty} \frac{1}{A(t,T)} \int_T^t a(s)w(s) \left(\int_T^s f(r)^{\lambda} b(r) dr \right) ds$$
$$= f(T)^{\lambda} R(T) + \sigma \lambda \int_T^\infty a(s) f(s)^{\lambda-1} R(s) ds - \alpha \int_T^\infty a(s) f(s)^{\lambda} |R(s)|^{(\alpha+1)/\alpha} ds.$$

Observe that the right-hand side of (2.32) is a finite value, and it does not depend on $w \in \mathcal{W}_0$. Then, applying Lemma 2.1(i) to the case $T_0 = T_1 = t_1$, $T_2 = T$, $\varphi(t) = a(t)w(t)$ and $\psi(t) = f(t)^{\lambda}b(t)$, we see that

$$\lim_{t \to \infty} C(t; w, \lambda) = \int_{t_1}^T f(s)^{\lambda} b(s) \, ds + f(T)^{\lambda} R(T) + \sigma \lambda \int_T^\infty a(s) f(s)^{\lambda - 1} R(s) \, ds - \alpha \int_T^\infty a(s) f(s)^{\lambda} |R(s)|^{(\alpha + 1)/\alpha} \, ds$$

Thus, we deduce that $C(t; w, \lambda)$ has a finite limit as $t \to \infty$ and that the value of the limit of $C(t; w, \lambda)$ as $t \to \infty$ does not depend on $w \in W_0$. The proof of Lemma 2.3 is complete.

We are now ready to prove Theorems 1.2 and 1.6.

Proof of Theorem 1.2. Assume that the system (1.1) has a nonoscillatory solution (u(t), v(t)). Let u(t) > 0 for $t \ge T$ $(\ge t_1)$, and define the function R(t) by (2.1). By Lemma 2.2 we have (2.5). Therefore, by Lemma 2.3, the function $C(t; w_0, \lambda)$ has a finite limit as $t \to \infty$ for any $w_0 \in \mathcal{W}_0$. Consequently, if there is a function $w_0 \in \mathcal{W}_0$ such that $C(t; w_0, \lambda)$ does not possess a finite limit as $t \to \infty$, then the system (1.1) is oscillatory. The proof of Theorem 1.2 is complete.

Proof of Theorem 1.6. Assume that the system (1.1) has a nonoscillatory solution (u(t), v(t)). Let u(t) > 0 for $t \ge T$ $(\ge t_1)$, and define the function R(t) by (2.1). Let ξ be a number satisfying $0 \le \xi < 1/\alpha$. For the proof of (I) note that $w_1 \in \mathcal{W}_0 \subseteq \mathcal{W}$ and

$$\liminf_{t\to\infty} C(t;w_1,\lambda) > -\infty,$$

and for the proof of (II) note that $w_0 \in \mathcal{W}_0 \subseteq \mathcal{W}$ and

$$\liminf_{t \to \infty} C(t; w_0, \lambda) > -\infty$$

Then, by Lemma 2.2 applied to the case $w = w_1 \in \mathcal{W}$ (resp. $w = w_0 \in \mathcal{W}$) for the proof of (I) (resp. (II)), we have (2.5). Therefore it follows from Lemma 2.3 that, for any $w \in \mathcal{W}_0$, the function $C(t; w, \lambda)$ has a finite limit as $t \to \infty$ and the limit (in particular, the lower limit and the upper limit) of $C(t; w, \lambda)$ as $t \to \infty$ does not depend on $w \in \mathcal{W}_0$. This is a contradiction to the condition (1.21) (resp. (1.22)) for the proof of (I) (resp. (II)). The proof of Theorem 1.6 is complete.

For the proof of Theorem 1.7 we use Sturm's comparison theorem (see Theorem 1.1).

Proof of Theorem 1.7. Suppose that (1.24) holds. We take a number $T \ge t_0$ such that

$$\left| \int_{t}^{\infty} f(s)^{\alpha} b(s) \, ds \right| \le \frac{1}{3} \quad \text{for } t \ge T.$$

Clearly we have

$$0 < \frac{1}{6} \le \sigma \int_{t}^{\infty} f(s)^{\alpha} b(s) \, ds + \frac{1}{2} \le \frac{5}{6} < 1, \quad t \ge T,$$

where $\sigma = +1$ for the case where (1.9) holds, and $\sigma = -1$ for the case where (1.10) holds. Define the function R(t) by

$$R(t) = \sigma f(t)^{-\alpha} \left(\sigma \int_t^\infty f(s)^\alpha b(s) \, ds + \frac{1}{2} \right), \quad t \ge T.$$

It is easy to see that

$$R'(t) = -b(t) - \alpha a(t) |R(t)|^{(\alpha+1)/\alpha} \left(\sigma \int_t^\infty f(s)^{\alpha} b(s) \, ds + \frac{1}{2}\right)^{-1/\alpha}$$

for $t \geq T$, and so

(2.33)
$$R'(t) \le -b(t) - \alpha a(t) |R(t)|^{(\alpha+1)/\alpha}, \quad t \ge T.$$

Next, define the positive function $u_1(t)$ by

$$u_1(t) = \exp\left(\int_T^t a(s) |R(s)|^{1/\alpha} \operatorname{sgn} R(s) \, ds\right), \quad t \ge T.$$

Further, using the above R(t) and $u_1(t)$, we put

$$v_1(t) = u_1(t)^{\alpha} R(t), \quad t \ge T.$$

Then,

$$u_1'(t) = a(t)|v_1(t)|^{1/\alpha}\operatorname{sgn} v_1(t), \quad t \ge T,$$

and, it follows from (2.33) that

$$v_1'(t) \le -b(t)u_1(t)^{\alpha}, \quad t \ge T.$$

Put

$$b_1(t) = -\frac{v_1'(t)}{u_1(t)^{\alpha}}, \quad t \ge T.$$

It is clear that $b_1(t) \ge b(t)$ $(t \ge T)$, and that $(u_1(t), v_1(t))$ is a solution on $[T, \infty)$ of the system

$$u'_1 = a(t)|v_1|^{1/\alpha}\operatorname{sgn} v_1, \quad v'_1 = -b_1(t)|u_1|^{\alpha}\operatorname{sgn} u_1.$$

Remember that $u_1(t) > 0$ for $t \ge T$. Then, by Theorem 1.1, we conclude that for any nontrivial solution (u(t), v(t)) of (1.1) the first component u(t) has at most one zero in $[T, \infty)$. This shows that (1.1) is nonoscillatory. The proof of Theorem 1.7 is complete. \Box

3. Scalar half-linear equations

Now, let us state the oscillatory and nonoscillatory results for the scalar half-linear equation (1.4). Since (1.4) can be regarded as a special case of (1.1) with $a(t) = p(t)^{-1/\alpha}$ and b(t) = q(t), the results for (1.1) yield the corresponding results for (1.4). The precise statements of the general results for (1.4) which can be derived from Theorem 1.2, Corollary 1.3 and Theorem 1.6 are omitted because they are complicated and long. We only give a remark that the result of Li and Yeh [9, Theorem 3.1] for (1.4) with $p(t) \equiv 1$ is easily derived from Theorem 1.2 of the case $\lambda = 0$. See also Theorem 1.3 in Willett [25] for the linear equation (1.6). We further note that the corresponding result to Theorem 1.6 of the case $\lambda = 0$ gives an extension of the result of Li and Yeh [9, Corollary 3.2]. See Corollary 1.2 in Willett [25] for the linear equation (1.6).

In this section we state the results for (1.4) which can be derived from Corollaries 1.4 and 1.5 and Theorem 1.7. We first consider the case where (1.7) holds. Then we set

(3.1)
$$P(t) = \int_{t_0}^t p(s)^{-1/\alpha} \, ds, \quad t \ge t_0.$$

Corollary 1.4 produces the following result.

Corollary 3.1. Consider the equation (1.4) under the condition (1.7). Define P(t) by (3.1), and take $t_1 > t_0$ so that P(t) > 0 for $t \ge t_1$. Suppose moreover that there are λ and ρ such that $\lambda < \alpha, \rho > -1$ and

$$\lim_{t \to \infty} \frac{1}{P(t)^{\rho+1}} \int_{t_1}^t p(s)^{-1/\alpha} P(s)^{\rho} \left(\int_{t_1}^s P(r)^{\lambda} q(r) \, dr \right) \, ds = \infty$$

or

$$-\infty < \liminf_{t \to \infty} \frac{1}{P(t)^{\rho+1}} \int_{t_1}^t p(s)^{-1/\alpha} P(s)^{\rho} \left(\int_{t_1}^s P(r)^{\lambda} q(r) \, dr \right) \, ds$$

$$< \limsup_{t \to \infty} \frac{1}{P(t)^{\rho+1}} \int_{t_1}^t p(s)^{-1/\alpha} P(s)^{\rho} \left(\int_{t_1}^s P(r)^{\lambda} q(r) \, dr \right) \, ds$$

Then, (1.4) is oscillatory.

The classical Hartman–Wintner oscillation criterion for (1.6) is the case of $\alpha = 1$, $p(t) \equiv 1$, $\rho = 0$ and $\lambda = 0$ in Corollary 3.1.

Corollary 1.5 yields the following result.

Corollary 3.2. Consider the equation (1.4) under the condition (1.7). Define P(t) by (3.1), and take $t_1 > t_0$ so that P(t) > 0 for $t \ge t_1$. Suppose moreover that there exists λ such that $\lambda < \alpha$ and

$$\lim_{t \to \infty} \frac{1}{\log P(t)} \int_{t_1}^t \frac{p(s)^{-1/\alpha}}{P(s)} \left(\int_{t_1}^s P(r)^{\lambda} q(r) \, dr \right) \, ds = \infty$$

or

$$-\infty < \liminf_{t \to \infty} \frac{1}{\log P(t)} \int_{t_1}^t \frac{p(s)^{-1/\alpha}}{P(s)} \left(\int_{t_1}^s P(r)^\lambda q(r) \, dr \right) \, ds$$
$$< \limsup_{t \to \infty} \frac{1}{\log P(t)} \int_{t_1}^t \frac{p(s)^{-1/\alpha}}{P(s)} \left(\int_{t_1}^s P(r)^\lambda q(r) \, dr \right) \, ds.$$

Then, (1.4) is oscillatory.

Theorem 1.7 produces the following result.

Corollary 3.3. Consider the equation (1.4) under the condition (1.7). Define P(t) by (3.1). If

(3.2)
$$\lim_{t \to \infty} \int_{t_0}^t P(s)^{\alpha} q(s) \, ds = \int_{t_0}^{\infty} P(s)^{\alpha} q(s) \, ds \quad \text{exists and is finite,}$$

then (1.4) is nonoscillatory.

The above result for the case $p(t) \equiv 1$ was shown by Li and Yeh [10, Corollary 3.3]. For case where $q(t) \geq 0$ for all large t, it is well known (see, e.g., [4,6]) that if (3.2) holds, then (1.4) has a nonoscillatory solution u(t) such that

(3.3)
$$\lim_{t \to \infty} \frac{u(t)}{P(t)}$$
 exists and is a nonzero finite value,

and, conversely, if (1.4) has a nonoscillatory solution u(t) satisfying (3.3), then (3.2) holds.

Next, consider the case where (1.8) holds. We set

(3.4)
$$\pi(t) = \int_{t}^{\infty} p(s)^{-1/\alpha} \, ds, \quad t \ge t_0$$

Then we can take $t_1 = t_0$. The following results can be obtained from Corollaries 1.4 and 1.5 and Theorem 1.7.

Corollary 3.4. Consider the equation (1.4) under the condition (1.8). Define $\pi(t)$ by (3.4). Suppose that there are λ and ρ such that $\lambda > \alpha$, $\rho < -1$ and

$$\lim_{t \to \infty} \frac{1}{\pi(t)^{\rho+1}} \int_{t_0}^t p(s)^{-1/\alpha} \pi(s)^{\rho} \left(\int_{t_0}^s \pi(r)^{\lambda} q(r) \, dr \right) \, ds = \infty$$

or

$$-\infty < \liminf_{t \to \infty} \frac{1}{\pi(t)^{\rho+1}} \int_{t_0}^t p(s)^{-1/\alpha} \pi(s)^{\rho} \left(\int_{t_0}^s \pi(r)^{\lambda} q(r) \, dr \right) \, ds$$
$$< \limsup_{t \to \infty} \frac{1}{\pi(t)^{\rho+1}} \int_{t_0}^t p(s)^{-1/\alpha} \pi(s)^{\rho} \left(\int_{t_0}^s \pi(r)^{\lambda} q(r) \, dr \right) \, ds$$

Then, (1.4) is oscillatory.

Corollary 3.5. Consider the equation (1.4) under the condition (1.8). Define $\pi(t)$ by (3.4). Suppose that there exists λ such that $\lambda > \alpha$ and

$$\lim_{t \to \infty} \frac{1}{\log(1/\pi(t))} \int_{t_0}^t \frac{p(s)^{-1/\alpha}}{\pi(s)} \left(\int_{t_0}^s \pi(r)^\lambda q(r) \, dr \right) \, ds = \infty$$

or

$$-\infty < \liminf_{t \to \infty} \frac{1}{\log(1/\pi(t))} \int_{t_0}^t \frac{p(s)^{-1/\alpha}}{\pi(s)} \left(\int_{t_0}^s \pi(r)^{\lambda} q(r) \, dr \right) \, ds$$
$$< \limsup_{t \to \infty} \frac{1}{\log(1/\pi(t))} \int_{t_0}^t \frac{p(s)^{-1/\alpha}}{\pi(s)} \left(\int_{t_0}^s \pi(r)^{\lambda} q(r) \, dr \right) \, ds.$$

Then, (1.4) is oscillatory.

Corollary 3.6. Consider the equation (1.4) under the condition (1.8). Define $\pi(t)$ by (3.4). If

(3.5)
$$\lim_{t \to \infty} \int_{t_0}^t \pi(s)^{\alpha} q(s) \, ds = \int_{t_0}^\infty \pi(s)^{\alpha} q(s) \, ds \quad \text{exists and is finite,}$$

then (1.4) is nonoscillatory.

For the case where $q(t) \ge 0$ for all large t, it is known (see, e.g., [6,8]) that if (3.5) holds, then (1.4) has a nonoscillatory solution u(t) such that

(3.6)
$$\lim_{t \to \infty} \frac{u(t)}{\pi(t)}$$
 exists and is a nonzero finite value,

and, conversely, if (1.4) has a nonoscillatory solution u(t) satisfying (3.6), then (3.5) holds.

4. Examples

In this section we illustrate our results by several examples.

Example 4.1. Let $g \in C^1[t_0, \infty)$, $t_0 > 0$, be a function such that

$$g(t) > 0$$
 and $g'(t) \ge 0$ for $t \ge t_0$, and $\lim_{t \to \infty} g(t) = \infty$,

and put

$$a(t) = g'(t)$$
 and $b(t) = \frac{d}{dt} \{ \sin \log g(t) + \log g(t) \cos \log g(t) \}$

for $t \ge t_0$. For this pair of a(t) and b(t), the system (1.1) is oscillatory. To see this, take a function $G \in C^1[0, \infty)$ such that G(t) = g(t) for $t \ge t_0$ and

$$G(0) = 0, \quad G'(t) \ge 0 \text{ for } t \in [0, t_0].$$

We put A(t) = G'(t) for $t \ge 0$, and so A(t) = a(t) for $t \ge t_0$. Further, take a function $B \in C[0, \infty)$ such that B(t) = b(t) for $t \ge t_0$. Then we consider the auxiliary system

(4.1)
$$u' = A(t)|v|^{1/\alpha} \operatorname{sgn} v, \quad v' = -B(t)|u|^{\alpha} \operatorname{sgn} u,$$

on the interval $[0, \infty)$. Clearly, the original system is oscillatory if and only if the auxiliary system (4.1) is oscillatory. For the system (4.1), we have $\sigma = +1$ and $f(t) = \int_0^t A(s) ds =$ G(t) for $t \ge 0$. Let $t_1 = t_0$, and so f(t) = g(t) > 0 for $t \ge t_1$. It is clear that

$$\int_{t_1}^t B(s) \, ds = \sin \log g(t) + \log g(t) \cos \log g(t) + c_1, \quad t \ge t_1,$$

where c_1 is a constant. Then we can easily check that

$$\int_{t_1}^t \frac{A(s)}{f(s)} \left(\int_{t_1}^s B(r) \, dr \right) \, ds = \log g(t) \sin \log g(t) + c_1 \log g(t) + c_2, \quad t \ge t_1,$$

where c_2 is also a constant. Hence we have

$$-1 + c_1 = \liminf_{t \to \infty} \frac{1}{\log f(t)} \int_{t_1}^t \frac{A(s)}{f(s)} \left(\int_{t_1}^s B(r) \, dr \right) \, ds$$
$$< \limsup_{t \to \infty} \frac{1}{\log f(t)} \int_{t_1}^t \frac{A(s)}{f(s)} \left(\int_{t_1}^s B(r) \, dr \right) \, ds = 1 + c_1$$

Therefore, by Corollary 1.5 with $\lambda = 0$, the system (4.1) is oscillatory, and, in consequence, the system (1.1) under consideration is oscillatory.

Example 4.2. Consider the half-linear scalar equation (1.4) of the case

$$p(t) = t^{2\alpha}$$
 and $q(t) = t^{2\alpha} \frac{d}{dt} \{ \sin \log t + \log t \cos \log t \}$

for $t \ge t_0$ (> 0). In this case, $\sigma = -1$ and $\pi(t) = 1/t$ ($t \ge t_0$). We will apply Corollary 3.5 with $\lambda = 2\alpha$. Since

$$\int_{t_0}^t \pi(r)^{2\alpha} q(r) \, dr = \sin \log t + \log t \cos \log t + c_1, \quad t \ge t_0,$$

we have

$$\int_{t_0}^t \frac{p(s)^{-1/\alpha}}{\pi(s)} \left(\int_{t_0}^s \pi(r)^{2\alpha} q(r) \, dr \right) \, ds = \log t \sin \log t + c_1 \log t + c_2, \quad t \ge t_0.$$

Here c_1 and c_2 are constants. It is easy to see that

$$-1 + c_1 = \liminf_{t \to \infty} \frac{1}{\log(1/\pi(t))} \int_{t_0}^t \frac{p(s)^{-1/\alpha}}{\pi(s)} \left(\int_{t_0}^s \pi(r)^{2\alpha} q(r) \, dr \right) \, ds$$
$$< \limsup_{t \to \infty} \frac{1}{\log(1/\pi(t))} \int_{t_0}^t \frac{p(s)^{-1/\alpha}}{\pi(s)} \left(\int_{t_0}^s \pi(r)^{2\alpha} q(r) \, dr \right) \, ds = 1 + c_1.$$

Therefore, by Corollary 3.5 with $\lambda = 2\alpha$, this equation (1.4) is oscillatory.

Remark 4.3. From Example 4.1 of the case g(t) = t, we find that the equation (1.4) of the case

$$p(t) \equiv 1$$
 and $q(t) = \frac{d}{dt} \{ \sin \log t + \log t \cos \log t \}, \quad t \ge t_0 > 0,$

is oscillatory. If this equation is written as

(4.2)
$$(|u'|^{\alpha} \operatorname{sgn} u')' + q(t)|u|^{\alpha} \operatorname{sgn} u = 0,$$

then the equation in Example 4.2 is

(4.3)
$$(t^{2\alpha}|u'|^{\alpha}\operatorname{sgn} u')' + t^{2\alpha}q(t)|u|^{\alpha}\operatorname{sgn} u = 0.$$

In general, let q(t) be a continuous function on $[t_0, \infty)$, $t_0 > 0$. Then it may be guessed that there is some relation between (4.2) and (4.3) with respect to oscillatory (and nonoscillatory) properties of solutions. This is surely true for the case $\alpha = 1$ in the sense that (4.2) with $\alpha = 1$ is oscillatory (resp. nonoscillatory) if and only if (4.3) with $\alpha = 1$ is oscillatory (resp. nonoscillatory). Indeed, for a solution u(t) of (4.2) with $\alpha = 1$, the function $\tilde{u}(t) = u(t)/t$ is a solution of (4.3) with $\alpha = 1$, and, by this transformation, the oscillatory (and nonoscillatory) property does not change.

Next we give two examples illustrating Theorem 1.6.

Example 4.4. Consider the half-linear equation (1.4) of the case

$$p(t) = 1$$
 and $q(t) = t^2 \cos t$

for $t \ge 0$. This equation is regarded as a special case of the system (1.1) with a(t) = 1and $b(t) = t^2 \cos t$. In this case, we have $\sigma = +1$ and f(t) = t ($t \ge 0$). We will apply Theorem 1.6(I) with $\lambda = 0$, and so $\sigma(\lambda - \alpha) < 0$. Let $t_1 = 2\pi$. We have

$$\int_{t_1}^t b(r) \, dr = \int_{t_1}^t r^2 \cos r \, dr = t^2 \sin t + 2t \cos t - 2 \sin t + c_1,$$

where c_1 is a constant.

The positive constant function $w_0(t) \equiv 1$ satisfies $a(t)w_0(t) = 1 \neq 0$ on $[t_2, \infty)$ for any $t_2 \geq t_1$, and (1.17) and $(1.18)_{\lambda=0}$ with w(t) replaced by $w_0(t)$ hold. Therefore, $w_0 \in \mathcal{W}_0$. The function $C(t; w_0, 0)$ is given by

$$C(t; w_0, 0) = \frac{1}{t - t_1} \left(-t^2 \cos t + 4t \sin t + 6 \cos t + c_2 + c_1(t - t_1) \right),$$

where c_2 is a constant. Hence we have

$$\liminf_{t \to \infty} C(t; w_0, 0) = -\infty.$$

Next, take $w_1(t) = (\sin t)_+ (\cos t)_+$, where in general $\psi(t)_+ = \max\{\psi(t), 0\}$. The function $w_1(t)$ satisfies $w_1(t) \ge 0$ for $t \ge t_1$ and $a(t)w_1(t) = (\sin t)_+ (\cos t)_+ \ne 0$ on $[t_2, \infty)$ for any $t_2 \ge t_1$. For $t \ge t_1 = 2\pi$, there is an $n \in \{1, 2, 3, \ldots\}$ such that $2n\pi \le t < 2(n+1)\pi$. Then,

(4.4)
$$\int_{t_1}^t a(s)w_1(s)\,ds = \int_{2\pi}^t (\sin s)_+ (\cos s)_+\,ds \ge \sum_{i=1}^{n-1} \int_{2i\pi}^{2i\pi + (\pi/2)} \sin s \,\cos s\,ds$$
$$= \frac{n-1}{2} > \frac{t-4\pi}{4\pi}.$$

Therefore, $w_1(t)$ satisfies (1.17) and $(1.18)_{\lambda=0}$ with w(t) replaced by $w_1(t)$. Hence, $w_1 \in \mathcal{W}_0$. Since $(\sin t)_+ \ge 0$, $(\cos t)_+ \ge 0$, $\sin t (\sin t)_+ \ge 0$ and $\cos t (\cos t)_+ \ge 0$, we have

$$\int_{t_1}^t a(s)w_1(s) \left(\int_{t_1}^s b(r) \, dr \right) \, ds$$

$$\geq \int_{2\pi}^t \left\{ -2\sin s \, (\sin s)_+ (\cos s)_+ + c_1(\sin s)_+ (\cos s)_+ \right\} \, ds$$

$$\geq \int_{2\pi}^t (-2 - |c_1|) \, ds = (-2 - |c_1|)(t - 2\pi), \quad t \ge 2\pi.$$

Therefore the inequality (4.4) gives

$$C(t; w_1, 0) \ge \frac{4\pi}{t - 4\pi} (-2 - |c_1|)(t - 2\pi), \quad t > 4\pi.$$

Consequently, we get

$$\liminf_{t \to \infty} C(t; w_1, 0) > -\infty.$$

Thus the condition (1.21) holds. By Theorem 1.6(I), the equation in this example is oscillatory.

Example 4.5. Consider the half-linear equation (1.4) of the case

$$p(t) = t^{\alpha}$$
 and $q(t) = (\log t)^{\beta} \cos t$ (β : constant)

for $t \ge \pi$. If $\beta > -\alpha$, then this equation is oscillatory. To see this, we take a function $Q \in C[1, \infty)$ such that $Q(t) = (\log t)^{\beta} \cos t$ for $t \ge \pi$, and consider the auxiliary equation

(4.5)
$$(t^{\alpha}|u'|^{\alpha}\operatorname{sgn} u')' + Q(t)|u|^{\alpha}\operatorname{sgn} u = 0$$

on the interval $[1, \infty)$. Clearly, the original equation is oscillatory if and only if (4.5) is oscillatory. The equation (4.5) is regarded as a special case of the system (1.1) with a(t) = 1/t and b(t) = Q(t). We will apply Theorem 1.6(II) to (4.5), for which $\sigma = +1$ and $f(t) = \log t$ ($t \ge 1$). Let $\lambda = -\beta$, and so $\sigma(\lambda - \alpha) < 0$. Put $t_1 = 2\pi$ (> 1). The positive constant function $w_0(t) \equiv 1$ satisfies $a(t)w_0(t) = 1/t \neq 0$ on $[t_2, \infty)$ for any $t_2 \ge t_1$, and (1.17) and (1.18) $_{\lambda=-\beta}$ with w(t) replaced by $w_0(t)$ hold. Therefore, $w_0 \in W_0$. The function $C(t; w_0, -\beta)$ satisfies

$$C(t; w_0, -\beta) = \frac{1}{\log t - \log(2\pi)} \int_{2\pi}^t \frac{1}{s} \left(\int_{2\pi}^s \cos r \, dr \right) \, ds \to 0 \quad \text{as } t \to \infty.$$

Next, take $w_1(t) = (\sin t)_+$, where in general $\psi(t)_+ = \max\{\psi(t), 0\}$. This function satisfies $w_1(t) \ge 0$ on $[t_1, \infty)$ and $a(t)w_1(t) = (\sin t)_+/t \ne 0$ on $[t_2, \infty)$ for any $t_2 \ge t_1$. Let

 $t \ge t_1 = 2\pi$. There is an $n \in \{1, 2, 3, \ldots\}$ such that $2n\pi \le t < 2(n+1)\pi$. Then,

$$\int_{t_1}^{t} a(s)w_1(s) \, ds$$

$$= \int_{2\pi}^{t} \frac{(\sin s)_+}{s} \, ds \ge \sum_{i=1}^{n-1} \int_{2i\pi + (\pi/4)}^{(2i+1)\pi - (\pi/4)} \frac{\sin s}{s} \, ds$$

$$(4.6)$$

$$\ge \sum_{i=1}^{n-1} \int_{2i\pi + (\pi/4)}^{(2i+1)\pi - (\pi/4)} \frac{\sqrt{2}/2}{(2i+1)\pi - (\pi/4)} \, ds = \frac{\sqrt{2}}{4} \sum_{i=1}^{n-1} \frac{1}{(2i+1) - (1/4)}$$

$$\ge \frac{\sqrt{2}}{12} \sum_{i=1}^{n-1} \frac{1}{i} \ge \frac{\sqrt{2}}{12} \log n \ge \frac{\sqrt{2}}{12} \log \left(\frac{t-2\pi}{2\pi}\right), \quad t > 4\pi.$$

Therefore, $w_1(t)$ satisfies (1.17) and $(1.18)_{\lambda=-\beta}$ with w(t) replaced by $w_1(t)$. Hence, $w_1 \in \mathcal{W}_0$. By a similar calculation to (4.6) we get

$$\int_{t_1}^t a(s)w_1(s) \left(\int_{t_1}^s f(r)^{\lambda} b(r) \, dr\right) \, ds$$

= $\int_{2\pi}^t \frac{\left[(\sin s)_+\right]^2}{s} \, ds \ge \sum_{i=1}^{n-1} \int_{2i\pi + (\pi/4)}^{(2i+1)\pi - (\pi/4)} \frac{\sin^2 s}{s} \, ds \ge \frac{1}{12} \log\left(\frac{t-2\pi}{2\pi}\right), \quad t > 4\pi$

We have

$$\int_{t_1}^t a(s)w_1(s)\,ds = \int_{2\pi}^t \frac{(\sin s)_+}{s}\,ds \le \int_{2\pi}^t \frac{1}{s}\,ds = \log t - \log(2\pi), \quad t \ge 2\pi.$$

Therefore,

$$C(t; w_1, -\beta) \ge \frac{1}{\log t - \log(2\pi)} \frac{1}{12} \log\left(\frac{t - 2\pi}{2\pi}\right), \quad t > 4\pi,$$

which gives

$$\limsup_{t \to \infty} C(t; w_1, -\beta) \ge \frac{1}{12}$$

Thus,

$$-\infty < \liminf_{t \to \infty} C(t; w_0, -\beta) = 0 < \frac{1}{12} \le \limsup_{t \to \infty} C(t; w_1, -\beta).$$

By Theorem 1.6(II), we conclude that if $\beta > -\alpha$, then the equation in this example is oscillatory. Since

$$\liminf_{t \to \infty} C(t; w_0, -\beta) = 0 < \frac{1}{12} \le \liminf_{t \to \infty} C(t; w_1, -\beta),$$

we may apply Theorem 1.6(I).

In the equation of Example 4.5, the case $\beta < -\alpha$ is nonoscillatory.

Example 4.6. Consider the half-linear equation (1.4) with

$$p(t) = t^{\alpha}$$
 and $q(t) = (\log t)^{\beta} \cos t$ (β : constant)

for $t \ge \pi$. If $\beta < -\alpha$, then this equation is nonoscillatory. In fact, for this equation, we have $\sigma = +1$ and $P(t) = \log t - \log \pi$ $(t \ge \pi)$, and it can be verified that if $\beta < -\alpha$, then

$$\lim_{t \to \infty} \int_{\pi}^{t} P(s)^{\alpha} q(s) \, ds = \int_{\pi}^{\infty} (\log s - \log \pi)^{\alpha} (\log s)^{\beta} \cos s \, ds$$

exists and is finite. Therefore, by Corollary 3.3, this equation with $\beta < -\alpha$ is nonoscillatory.

References

- O. Došlý and P. Řehák, Half-linear Differential Equations, North-Holland Mathematics Studies 202, Elsevier Science B.V., Amsterdam, 2005.
- [2] M. Dosoudilová, A. Lomtatidze and J. Šremr, Oscillatory properties of solutions to certain two-dimensional systems of non-linear ordinary differential equations, Nonlinear Anal. 120 (2015), 57–75.
- [3] P. Hartman, Ordinary Differential Equations, John Wiley & Sons, New York, 1964; Classics in Applied Mathematics 38, Society for Industrial and Applied Mathematics (SIAM), Philadelphia, PA, 2002.
- [4] H. Hoshino, R. Imabayashi, T. Kusano and T. Tanigawa, On second-order half-linear oscillations, Adv. Math. Sci. Appl. 8 (1998), no. 1, 199–216.
- [5] J. Jaroš, K. Takaŝi and T. Tanigawa, Nonoscillatory half-linear differential equations and generalized Karamata functions, Nonlinear Anal. 64 (2006), no. 4, 762–787.
- [6] _____, Nonoscillatory solutions of planar half-linear differential systems: a Riccati equation approach, Electron. J. Qual. Theory Differ. Equ. **2018**, Paper No. 92, 28 pp.
- [7] T. Kusano and J. V. Manojlović, Precise asymptotic behavior of regularly varying solutions of second order half-linear differential equations, Electron. J. Qual. Theory Differ. Equ. 2016, Paper No. 62, 24 pp.
- [8] T. Kusano, A. Ogata and H. Usami, Oscillation theory for a class of second order quasilinear ordinary differential equations with application to partial differential equations, Japan. J. Math. (N.S.) 19 (1993), no. 1, 131–147.

- H. J. Li and C. C. Yeh, Oscillations of half-linear second order differential equations, Hiroshima Math. J. 25 (1995), no. 3, 585–594.
- [10] _____, Sturmian comparison theorem for half-linear second-order differential equations, Proc. Roy. Soc. Edinburgh Sect. A 125 (1995), no. 6, 1193–1204.
- [11] A. Lomtatidze and N. Partsvania, Oscillation and nonoscillation criteria for twodimensional systems of first order linear ordinary differential equations, Georgian Math. J. 6 (1999), no. 3, 285–298.
- [12] A. Lomtatidze and J. Šremr, On oscillation and nonoscillation of two-dimensional linear differential systems, Georgian Math. J. 20 (2013), no. 3, 573–600.
- [13] J. D. Mirzov, On some analogs of Sturm's and Kneser's theorems for nonlinear systems, J. Math. Anal. Appl. 53 (1976), no. 2, 418–425.
- [14] D. D. Mirzov, The oscillation of the solutions of a certain system of differential equations, Math. Zametki 23 (1978), no. 3, 401–404.
- [15] M. Naito, Asymptotic behavior of nonoscillatory solutions of half-linear ordinary differential equations, Arch. Math. (Basel) 116 (2021), no. 5, 559–570.
- [16] _____, Remarks on the existence of nonoscillatory solutions of half-linear ordinary differential equations: I, Opuscula Math. 41 (2021), no. 1, 71–94.
- [17] _____, Remarks on the existence of nonoscillatory solutions of half-linear ordinary differential equations: II, Arch. Math. (Brno) 57 (2021), no. 1, 41–60.
- [18] M. Naito and H. Usami, On the existence and asymptotic behavior of solutions of half-linear ordinary differential equations, J. Differential Equations 318 (2022), 359– 383.
- [19] Z. Opluštil, Oscillation criteria for two dimensional system of non-linear ordinary differential equations, Electron. J. Qual. Theory Differ. Equ. 2016, Paper No. 52, 17 pp.
- [20] _____, On non-oscillation for certain system of non-linear ordinary differential equations, Georgian Math. J. 24 (2017), no. 2, 277–285.
- [21] _____, Oscillatory properties of certain system of non-linear ordinary differential equations, Miskolc Math. Notes 19 (2018), no. 1, 439–459.
- [22] P. Rehák, Asymptotic formulae for solutions of half-linear differential equations, Appl. Math. Comput. 292 (2017), 165–177.

- [23] P. Řehák and V. Taddei, Solutions of half-linear differential equations in the classes gamma and pi, Differential Integral Equations 29 (2016), no. 7-8, 683–714.
- [24] K. Takaŝi and J. V. Manojlović, Asymptotic behavior of solutions of half-linear differential equations and generalized Karamata functions, Georgian Math. J. 28 (2021), no. 4, 611–636.
- [25] D. Willett, On the oscillatory behavior of the solutions of second order linear differential equations, Ann. Polon. Math. 21 (1969), 175–194.

Manabu Naito

Department of Mathematics, Faculty of Science, Ehime University, Matsuyama 790-8577, Japan

E-mail address: jpywm078@yahoo.co.jp